

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

TAX INVOICE

CHINA TAIPING INSURANCE (S) PTE LTD 3 ANSON ROAD $\sharp 16\text{-}00$

SPRINGLEAF TOWER SINGAPORE 079909

INV No. AC2004372

INV Date 17/06/2020

Reference CC6/CTI19006249/Uba3s2

Code CT

PROFESSIONAL SERVICE FEE

Vehicle No. SJP 4441G

Insured Veh. SKP 3057C

Claim No. SNM19D201582C02(thp)

Policy No. DMPCSN1657201802

Accident Date 08/04/2019

Inspection Date 09/04/2019

Description	Total
Third Party Express Settlement	400.00
Subtotal	400.00
GST (7%)	28.00
Grand Total	428.00

We shall be glad if you could forward the payment at your early convenience.

Cheque should be crossed and made payable to 'LKK Auto Consultants Pte Ltd'

LKK Auto Consultants Pte Ltd

NSA



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Affiliated to Federation Internationale Des Experts En Automobile							
CHIN	HINA TAIPING INSURANCE (S) PTE LTD Ref : CC6/CTI19006249/Uba3s2						
3 ANSON ROAD #16-00 SPRINGLEAF TOWERSINGAPORE 079909		Date: 17-06-2020 Code: CTI					
1.	1. Policy Particulars :- THIRD PARTY CLAIM						
	Insured Veh.	SKP 3057C	Veh. Inspected	SJP 4441G			
	Policy No.	DMPCSN1657201802	Coverage (\$)	0.00			
	Claim No.	SNM19D201582C02(thp)	Excess (\$)	0.00			
	Assign From		Assign Date	09/04/2019			
2.		Vehicle Partic	culars & Condition				
	Make & Model	NISSAN X-TRAIL (A)	c.c	1997			
	Engine No.	HIDDEN	Year of Reg.	2016			
	Chassis No.	JN1JANT32Z0002631	Colour	WHITE			
	Odometer	34686	Steering	IN ORDER			
	Brakes	IN ORDER	Modification	SPORTS RIM			
	General	GOOD					
3.		Condition	ons of Tyres				
		Size	Make	Balance			
	R/H Front Tyre	225/60 R18	DUNLOP	6 mm			
	L/H Front Tyre	225/60 R18	DUNLOP	6 mm			
	R/H Rear Tyre	225/60 R18	DUNLOP	6 mm			
	L/H Rear Tyre	225/60 R18	DUNLOP	6 mm			
4.		•	on of Damages				
	THE VEHICLE SUS	STAINED DAMAGES AT THE REA	AR AND FRONT PORTION.				
	DAMAGES SEE DI	ETAILS.					
5.		General	Information				
	Accident Date	08/04/2019	Inspection Date	09/04/2019			
	Survey held at	FASTECH AUTO PTE LTD					
		1 KAKI BUKIT AVENUE 6 #01-46/48/50 AUTOBAY SINGAPORE 417883					
5a.		Re	emarks				
	A)THE INSPECTION B)IN ACCORDANCE	ON WAS CONDUCTED ON A"WIT CE TO YOUR INSTRUCTIONS, W	HOUT PREJUDICE" BASIS. E HAVE NOT AUTHORISED	REPAIRS.			
5b.		Estimate l	Days of Repair				
	ESTIMATED NORI	MAL PERIOD FOR REPAIR:	10 Working Days				



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SJP 4441G

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	REAR WINDSCREEN (N)	NOT NECESSARY	1,850.10	-
1	REAR WINDSCREEN MOULDING (N)	NECESSARY	155.60	65.70
1	TAILGATE (N)	CRACKED / WARPED	5,066.20	4,200.00
1	TAILGATE INNER LOCK (N)	SERVICEABLE	399.20	-
1	TAILGATE REAR LOGO (N)	NECESSARY	68.00	68.00
1	TAILGATE X-TRAIL EMBLEM (N)	NECESSARY	105.00	105.00
2	TAILGATE REFLECTORS @ \$850.00 (N)	NOT NECESSARY	1,700.00	-
1	TAILGATE WEATHERSTRIP (N)	TWISTED	299.50	299.50
1	TAILGATE LOCK SWITCH (N)	SHORTED	425.00	425.00
1	REAR BUMPER (N)	DISTORTED	775.00	623.80
2	REAR BUMPER SIDE RETAINERS @ \$58.00 (N)	BENT	116.00	116.00
2	REAR BUMPER REFLECTORS @ \$215.00 (N)	CRACKED	430.00	430.00
1	REAR BUMPER TOW COVER (N)	TORN	35.00	35.00
1	REAR BUMPER SPONGE (N)	TORN	215.00	215.00
1	REAR BUMPER REINFORCEMENT (N)	DISTORTED	755.00	533.80
2	REAR BUMPER BRACKETS @ \$285.00 (N)	BENT	570.00	570.00
1	SET REAR BUMPER CLIPS (N)	NECESSARY	39.00	39.00
1	REAR END PANEL (N)	DENTED / BENT	711.60	447.50
1	REAR END PANEL TOP GARNISH (N)	NOT NECESSARY	388.00	-
2	TAILLAMPS @ \$950.00 (N)	NOT NECESSARY	1,900.00	-
2	REAR FENDERS @ \$1215.00 (N)	TO REPAIR SEE LABOUR	2,430.00	-
2	REAR FENDER INNER TRIM BOARDS @ \$695.00 (N)	NOT NECESSARY	1,390.00	-
2	REAR FENDER OUTER PROTECTORS @ \$541.00 (N)	TORN	1,082.00	1,082.00
1	REAR FENDER QUARTER GLASS N/S (N)	NOT NECESSARY	699.00	-
1	REAR FLOOR PANEL (N)	TO REPAIR SEE LABOUR	1,120.50	-
1	REAR FLOOR PANEL TOP BOARD (N)	NOT NECESSARY	688.00	-
1	REAR FLOOR PANEL TOOLS SPONGE (N)	NOT NECESSARY	385.00	-
1	REAR EXHAUST (N)	DENTED / BENT	1,217.30	1,217.30
3	REAR EXHAUST MOUNTINGS @ \$60.00 (N)	NECESSARY	180.00	180.00

Report Ref No. CC6/CTI19006249/Uba3s2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR EXHAUST HEAT SHIELD (N)	NOT NECESSARY	255.00	-
1	REAR END PANEL LOCK SENSOR (N)	CRACKED	311.00	311.00
1	REAR DOOR N/S (N)	TO REPAIR SEE LABOUR	1,211.30	-
1	REAR BUMPER CENTRE LAMP (N)	NO SUCH PARTS	250.00	-
1	TAILLAMP HOUSING PANEL N/S (N)	TO REPAIR SEE LABOUR	315.00	-
1	REAR TAILGATE SPOILER (N)	NOT NECESSARY	820.00	-
1	BONNET (N)	BENT / BUCKLED	1,150.00	901.90
2	BONNET HINGES @ \$41.80 (N)	NOT NECESSARY	83.60	-
1	BONNET INSULATOR (N)	NOT NECESSARY	188.20	-
1	SET BONNET INSULATOR CLIPS (N)	NOT NECESSARY	39.00	-
1	BONNET RUBBER (N)	NECESSARY	68.00	68.00
1	BONNET LOCK (N)	TWISTED	93.00	93.00
2	HEADLAMPS @ \$2650.00 (N)	CRACKED	5,300.00	4,704.00
1	FRONT BUMPER (N)	DISTORTED	671.00	534.70
1	FRONT BUMPER TOW COVER (N)	TORN	35.00	35.00
1	FRONT BUMPER REINFORCEMENT (N)	BENT	755.00	453.10
1	FRONT BUMPER SPONGE (N)	TORN	291.60	291.60
2	FRONT BUMPER SIDE HOLDERS @ \$65.00 (N)	BENT	130.00	130.00
2	FRONT BUMPER BRACKET @ \$185.00 (N)	BENT	370.00	370.00
1	SET FRONT BUMPER CLIPS (N)	NECESSARY	39.00	39.00
1	FRONT BUMPER LOWER GRILLE (N)	NOT NECESSARY	199.50	-
1	FRONT BUMPER LOWER GRILLE CHROME MOULDING (N)	NOT NECESSARY	153.10	-
2	FRONT BUMPER FOG LAMPS @ \$380.00 (N)	N/S CRACKED	760.00	380.00
2	FRONT BUMPER FOG LAMP COVERS @ \$80.90 (N)	SERVICEABLE	161.80	-
1	FRONT GRILLE (N)	CRACKED	390.30	390.30
1	FRONT GRILLE LOGO (N)	NECESSARY	38.50	38.50
1	FRONT GRILLE OUTER CHROME MOULDING (N)	SCRATCHED	182.50	182.50
1	FRONT SUPPORT PANEL (N)	BENT / CRACKED	541.00	541.00
1	FRONT SUPPORT PANEL TOP GARNISH (N)	NOT NECESSARY	184.00	-
1	SET FRONT SUPPORT PANEL TOP GARNISH CLIPS (N)	NOT NECESSARY	30.00	-

Report Ref No. CC6/CTI19006249/Uba3s2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	FRONT FENDERS @ \$583.40 (N)	TO REPAIR SEE LABOUR	1,166.80	-
2	FRONT FENDER OUTER PROTECTORS @ \$250.00 (N)	SERVICEABLE	500.00	-
2	HEADLAMP TOP PANELS @\$165.00 (N)	TO REPAIR SEE LABOUR	330.00	-
1	HORN UNIT (N)	NOT NECESSARY	89.60	-
2	AIR CON SIDE GARNISH @ \$65.00 (N)	DEFORMED / TORN	130.00	81.00
1	ALTRANSMISSION OIL COOLER (N)	NOT NECESSARY	340.00	-
1	AIRCON CONDENSER (N)	BENT / PUNCTURE	743.20	743.20
1	WIPER WASHER TANK (N)	NOT NECESSARY	201.90	-
1	RADIATOR (N)	BENT / PUNCTURE	1,455.00	687.40
1	RADIATOR FAN MOTOR (N)	NOT NECESSARY	1,008.60	-
1	AIRCON SUCTION HOSE (N)	NOT NECESSARY	545.20	-
1	AIRCON DISCHARGE HOSE (N)	NOT NECESSARY	499.50	-
1	AIR CLEANER BOX ASSY (N)	NOT NECESSARY	766.80	-
1	TAILGATE OUTER CHROME MOULDING (N)	NOT NECESSARY	288.50	-
1	FRONT SUPPORT TOP BRACKET (N)	NO SUCH PARTS	285.60	-
	LESS 10% DISCOUNT		-	-2,162.78
			48,562.10	19,465.02
	SPECIAL NETT ITEMS			
1	REAR WINDSCREEN SEALANT (SN)	NECESSARY	50.00	40.00
1	REAR WINDSCREEN SOLAR FILM (SN)	NOT NECESSARY	250.00	-
1	REAR LICENCE PLATE HOLDER (SN)	NOT NECESSARY	50.00	-
1	SET REAR BUMPER REVERSE SENSOR 4 PCS (SN)	SHORTED	300.00	200.00
1	REAR END PANEL SEALANT (SN)	NECESSARY	50.00	50.00
1	REAR FENDER QUARTER GLASS SEALANT N/S (SN)	NOT NECESSARY	50.00	-
1	SET REAR REVERSE CAMERA (SN)	NOT NECESSARY	380.00	-
1	SET REAR FLOOR PANEL INSULATOR (SN)	NOT NECESSARY	300.00	-
1	FRONT LICENCE PLATE W/HOLDER (SN)	BENT	50.00	40.00
1	BOT RADIATOR COOLANT (SN)	NECESSARY	50.00	50.00
1	SET REAR BUMPER SENSOR (SN)	NOT NECESSARY	300.00	-
1	REAR BUMPER TOP CHROME PLATE (SN)	BENT	500.00	300.00
			2,330.00	680.00

Report Ref No. CC6/CTI19006249/Uba3s2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	LABOUR			
	TO CHECK WIRING.		80.00	30.00
	TO DISMANTLE & REPLACING REAR REVERSE SENSOR.		100.00	50.00
	TO DISMANTLE & REPLACING REAR WINDSCREEN.		150.00	120.00
	TO TRANSFER TAILGATE MECHANISM.		100.00	80.00
	TO DISMANTLE & REFIX REAR QUARTER GLASS N/S.	NOT NECESSARY	150.00	-
	TO DISMANTLE & REFIX SEAT, CUSHION UPHOLSTERY.		150.00	80.00
	TO DISMANTLE & REPLACING REAR EXHAUST.		150.00	100.00
	TO DISMANTLE & REFIX FUEL TANK.	NOT NECESSARY	100.00	-
	TO CONDUCT WHEEL ALIGNMENT.	NOT NECESSARY	100.00	-
	TO MOUNT VEHICLE ON CAR O-LINER.	NOT NECESSARY	380.00	-
	TO REFILL GAS AIRCON GAS.		150.00	100.00
	TO SPRAY RUST PROOFING.		200.00	80.00
	LABOUR FOR PANEL BEATING, CUT, WELD, STRAIGHTENING & REPLACING PARTS. INCLUSIVE OF THE REPAIR OF REAR FENDERS, REAR FLOOR PANEL, REAR DOOR N/S, TAILLAMP HOUSING PANEL N/S, FRONT FENDERS AND HEADLAMP TOP PANELS.		2,800.00	1,400.00
	TO PUTTY & SPRAY PAINTING.		2,500.00	1,800.00
			7,110.00	3,840.00
	GRAND TOTAL		58,002.10	23,985.02

RECOMMENDED COST OF LUMP SUM REPAIRS		19,000.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CC6/CTI19006249/Uba3s2

CHUA KANG SENG

Licensed Appraiser